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Icgo = 550 pA (Ucg =10V, &; =75°C) [ - M o S
Iepo=550pA (Ugg =5V, 9;=75°C) 1 i 400& s
Ugrycso > 32V (c=05mA, Ug=0V) ' mv
Ugrjego > 10V (Iggo = 200 pA) Altalanos jelleggdrbék

Uggsae < 105 mV  (Ugg = 5V, Tg=2mA)
Upgsar < 400 mV  (Ucg = 0V, Ig = 100 mA;
hytp = 140.. .65 (Ucg =5V, Ig=2mA)
hygp 2 135 (Ueg =0V, Ig = 50 mA) mA[
hyre 2 105 (Ucg =0V, Ig =100 mA)
fi=23...17MHz (Ucg=2V, Iz=10mA)
fp=17...10kHz (Ucg =2V, Iz=10mA)
(Ug=5V. Ig=05maAl
F=4...10dB [Rgen =500, f=1 k:z)lj\
Uprp=5V, Ir=0m
Cpc = 40...50 pF [f i k) E ]
B=130...300 (Uep =5V, Ig=2mA,
f:=1 kHz)
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Hatarértékek:
P = 700 mW Ig = 40 mA
[ﬁi = 90°C ] Ripje = 004 °C{mW
Ucgo = 32V [P‘chja = 0,29 °C [mW]
[UCEO = 32 V'l (hitébilines nélkil)
(Rgg = 50002); Rep == 0,08 °C/mW
Uggo = 10V (h{it8bilincs+hiitélap)
Ic=1A Bsg = —55...475°C

Jellemzd adatoic: &; = 25°C

Icao < 10pA (Ucg=10V)

Iggo < SO0 pA (Ueg=5V, 8 =75°C)
U(E_’R) cro <32V (cpo = 200 pA)

Ucgsar < 0:6 V (Ie=1A)

U(BR)!:BO = 10 V (IEBO = 200 (J.A)

Upggae < 300 mV (Ucg =0V, Iz =50 mA)
Upgsae < 450 mV (Ucg =0V, Ig=300mA)
fyg = 55...175 Ucg =0V, =50 mA)
hyqg = 60...175 (Ucg =0V, Ig=300mA)
hyqg = 45...165 WUeg =2V, Ig=1mA)
fr>1MHz Uez=2V. I = 10 mA)

Cpc == 100 pF (Uep = 2V, Iz =10 mA)

rppr = 25Q  (Uep = 5V. Ig=1mA)
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